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]_. WOFHEZ L7z EW,

(1) 2a+9a = (2) 6c+2c = (3) 8a+3a =
(4) 3y +8y = (5) 4o+ 22 = (6) 6a+2a =
(7) 2z + 5z = (8) 7o+ da = (9) 9z 4z =
(10)  + 8z =

D . RoEE LS,

(1) 9a — 5a = (2) z— 5z = (3) 4z — 4z =
(4) 6a — 6a = (5) 2y — Ty = (6) 3z — 3z =
(7) & — 4z = (8) 5y — 9y = (9) = — ba =
(10) 8¢ — 3¢ =

3. kowtErLas,

(1) 1y — 7y = (2) 6c+3c= (3) 4z — 122 =

4) z—z = (5) 13y — 9y = (6) 8z — 9z =

(7) 4o — 12z = (8) 10z — 3z = (9) 5z — 12z =
(10) & — 10z =

4. wostmz i s,

(1) =Tx+6x = (2) —3a+ bHa = (3) 8y—y=

(4) =7 —Tb = (5) =3z —bx = (6) —bz+ 8z =

(7) 9y + 6y = (8) —8a —a= (9) 4z — 62 =
(10) —4x + b5z = (11) =11z — 8z = (12) —=19b+b =
(13) =32+ 13z = (14) =3z —4x = (15) 8y + 19y =
(16) bx + T = (17) —18a + 14a = (18) —2z + 6x =
(19) —1dz + 14z = (20) 9a + 3a =

— 13th-note —
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5. komEr Lis,

(1) 2a+4a+2+8= (2) 9c+2c+8+1=
(3) 3y+4y+3+6= (4) c+7c+9+9=
(5) Tc+4c+9+3 = (6) dy+8y+T7+5=

0. wostms Lz,

(1) 3—5+4z — 9z = (2) y—3y+6—-T7=
(3) 8—9+7Ta—3a = (4) 5—44+y—>by=
(5) 1-9+482—-2z= (6) 5—6+5x — Tx =

[ . wostEr Li s,

(1) =6—-3+a+a= (2) 34+52—-8—-Tz=
(3) 8—7Tb—8—-5= (4) 3+9—-8y—9y =
(5) 5—9b+5— 5b = (6) —8— 8z +8+x =
(7) 2z +6—4x4+7= (8) 9+8c—T7+5c=
(9) —10 — 8z + 10 — b6z = (10) 11y — 18 + 10y — 17 =
(11) =1 — 15z — 5+ bz = (12) 3+15+19a—a =

(13) =17 —17c =2 —Tc =

— 13th-note —



8.

- XFRRELESIEH - £ 0103-3

ROFFEZ L2 S0,

(1) =32z —T7)+2(2x — 1) =

(3) 3(x—1)+2(6+7z) =

(5) —2(5+3a) —3(ba+4) =

(7) —3(2b+2) — 2(6 + 3b) =

(9) —3(50 — 6) — 4(70 — 6) —

(11) 4(2a+7) 4+ 2(7a + 6) =

(13) —3(6x +2) —2(2 —Tx) =

(15) 4(y +4) +2(7+ 5y) =

(17) 4(5 + 4x) + 3(9z — 6) =

(19) 2(7z +7) + 3(3 — 7z) =

(2) —2(4x —4) +4(1 — 3x) =

(4) 3(4+3x) +4(bx +6) =

(6) 3(3+3y) —4(2y+2) =

(8) —4B3—x)+2(2+2z) =

(10) —4(1 —2a) —2(3a —4) =

(12) 2(4z +2) —4(2+62) =

(14) —2(1 — 22) — 3(5z +5) =

(16) 3(7 — 8y) + 4(4 — 9y) =

(18) 3(6 —62) —5(4z —T7) =

(20) 3(1 + 52) + 4(6 — 10z) =

— 13th-note —
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1.

ROFHHEZ LIRS0y,
(1) 2+ 9= 1la
4) 3y+8y= 1ly
(7) 2z+5cx= Ta

(10) z+8z = 9@

. ROFHEE LI,

(1) 9a —5a = 4a
(4) 6a—6a= 0
(7) 2 —de = —3x

(10) 8c —3c= 9C

. ROFEZ LRIV,

1) 1y -7y = 4y

@ z—z= 0

(7) 4z — 120 = —8X
(10) z — 10z = —9x
WOFFEZ L7 E W,
(1) ~Tx+6r= —&

(4) —tb—= —14b
(7) 9y + 6y = 195y
(10) —42 +52= &
(13) =324+ 13z= 10z
(16) 5z + 7z = 12

(19) —14z + 14z = 0

- XFXRBLESIZE - EF 0103-3 -

(2) 6c+2c= 8cC
(5) 4z +2z = OT

8) Te+4x= 1la

(2) 6c+3c= 9c
(5) 13y —9y = 4y

(8) 10z —32= Tz

(2) —=3a+5a= 2a

(5) =3z —br= —8T
8) =8a—a= —9a
(11) —11z —8z= —19x
(14) =3z —dz= —Ta
(17) —18a + 140 = —4a

(20) 9a+3a= 12a

— 13th-note —

i (

3) 8a+3a= 1lla
(6) 6a+2a= 8a

9) 9z +2= 10T

(3) 4z —4z= 0

6) 3z —3z= 0

9) ¢ — bz = —4x
(3) 42—12z = —8z
(6) 8¢ —9x = —&
(9) 5z —122= —7Z2

3) —8y—y= —9y
(6) =5z +82= 32

(9) 4z — 6z = —2X
(12) —19b+b= —18b
(15) 8y +19y = 2Ty

(18) —2z + 62z = 4x
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. ROFHHEZEZ LRIV,
(1) 2a+4a+2+8= 6a + 10 (2) 9c+2c+8+1= 11lc+ 9
3) 3y+4y+3+6= Ty +9 (4) c+7c+9+9= 8¢ + 18
(5) Te+4c+9+3= 11lc + 12 6) 4y+8y+7+5= 12y + 12
. ROFHHEZEZ LRIV,
(1) 3—5+4z—92= —dxr — 2 2)y-3y+6-7= —2y — 1
(3) 8—9+7a—3a= 4a — 1 4)5—4+y—sy= —4y + 1
(5) 1-9+82—-2:= 62z — 8 6) 5—6+5zx—Tx= —2x — 1
. ROFHHEZEZ LRIV,
(1) =6—-3+a+a= (2) 34+52—-8—-Tz=
2a — 9 —2z — 95
(3) 8—Th—8—5= (4) 34+9—8y—9y =
b— 13 —17y + 12
(5) 5—9b+5—5b= (6) —8 -8z +8+ 1z =
—14b + 10 —Tx
(7) 2x+6—4c+7= (8) 948c— 7+ b5c =
—6x + 13 13c + 2
(9) —10 — 82 + 10 — 6z = (10) 11y — 18 + 10y — 17 =
—14x 21y — 35
(11) =1 =152 — 5+ 5z = (12) 3+ 15+ 19a —a =
—10x — 6 18a + 18
(13) =17 —17c =2 —Tc =
—24c — 19

— 13th-note —



8.
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ROFFEZ L2 S0,

(1) =32z —T7)+2(2x — 1) =

—2x + 19

(3) 3(x—1)+2(6+7z) =
172 + 9

(5) —2(5+3a) —3(ba+4) =

—21a — 22

(7) —3(2b+2) — 2(6 + 3b) =
—12b — 18

(9) —3(5¢ —6) — 4(Tc — 6) =
—43¢c + 42

(11) 4(2a+7) 4+ 2(7a + 6) =
22a + 40

(13) —3(6x +2) —2(2 —Tx) =

—4x — 10

(15) 4(y+4) +2(7+ by) =
14y + 30

(17) 4(5 + 4x) + 3(9z — 6) =
43x + 2

(19) 2(Tx +7) + 3(3 — Tz) =
—7x + 23

(2) —2(4x —4) +4(1 — 3x) =
—20x + 12

(4) 3(4 + 3z) +4(5z + 6) =
29x + 36

(6) 3(3+3y) —4(2y+2) =
y+1

(8) —4(3—x)+2(2+42) =
6x — 8

(10) —4(1 —2a) —2(3a —4) =
2a + 4

(12) 2(424+2) —4(2+62) =
—16z — 4

(14) —2(1 —2z) — 3(5z +5) =
—11x — 17

(16) 3(7— 8y) + 4(4 — 9y) =
—60y + 37

(18) 3(6 — 62) — 5(4z —7) =
—38z + 53

(20) 3(1 + 52) + 4(6 — 10z) =
—25x + 27

— 13th-note —



